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DW= £ 5HE L H+EE £5+VIO £ 5+E8+VIO ] VIO
WoTH)=9Y 132,000 187,000 187,000 242,000 88,000 88,000
HIDRIFEII=YY — — — — 77,000 115,500
WRE2 o) =yy 180,000 — — 260,000 55,000 55,000
SAERERAFE J\HEE — — — — 52,800 88,000
NIATAHILI)=ws — — — — 88,000 100,000
SIWLERII=vY — — — — — 88,000
SR EF — - — — 66,000 —
EDlERHIY=ws — — — 1[81: 44,000 17,600 = e
RBERXUHZY 6[H: 259,200 6[=: 340,000 6[E: 340,000 6@ : 398,000 6[3: 118,800 6[=: 118,800
INERRVI=9Y — — — — 110,000 88,000
=ED)=9Y 6[51: 385,000 — — 6[3:495,000 1/E:33,000 1E:33,000
XBEBEARERNTE 1[8: 66,000 — 1[8:72,600 1[8:79,200 1[8: 16,500 1[8]:23,100
IZIVIREE-ERV =Y 1[E: 33,000 1[E:39,500 1[E:39,500 1[E:44,000 1[=: 15,000 1[E: 15,000
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